K

AHQIMIA BHAIE gl F1R2E L{EJ| 91 Z8X| 7} 9= AH|
ol A olelA ZEX
=5 dY/xIE o|o| x|

02

ol > o
o
LOL

- -

pA oA A
rE > e
=

[in

N

w

o

a

mal

i oo
U 2= ou
rEL > e
- o

[in

N

w

o

)]

HA 2 - E 1.4305, TS 2 ZHE,

#M OIF2|
AR, &F E oot
Pl
OlHlA ZHX| = =M &lof 9|3 &2 %2
B4 Hrx|sHofF 3t 2ol AFRE
HX{ EEE £S502 Z S CIE2 &2
A0

SEE = UZ. LIA B HAZRY =2
ofZHoi M BloiM 75 Elo| &R 2
CRAEL R

AL

S5 A A,

I ME K2146.

r
_|
i
[T
do
ro
-]
0>|

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



°
A A S (=) (o] = oi= A
2 H|QIYA A O glu} F12E HET| U1 EtlX|7} gls AH|
A CllA =
Olgf|A OIA ZiX]
=N
e EEE———
A |
~J
]
~J
T
~J
—
s 29
FEHS =4 ZHE Etel EH D D1 D2 L L1L2 AEE3 SW Fx30° AlE Etd FE HE
718 A S 2 E2 237 Q2AM
F1 2 N F2 2. N

K0634.002903 AHIQIEIA AE H FEE 3 M6x0,75 14 3451714 35 10 0,8 45 10 K0344.99
K0634.002004 2HIQIEA AR H P 4 M8x1 18 43 2118 4 13 1 6 12 K0344.90
K0634.002105 2EHIQIEA AE H PEE 5 M10x1 21 50 2421 5 17 1,3 5 12 K0344.91
K0634.002206 AHIQIEIA AR H PEL 6 M12x1,5 25 59 2825 6 19 1,8 6 14 K0344.92
K0634.002308 2~HIQIEA AR H P 8 M16x1,5 33 77 3633 8 24 23 15 35 K0344.93
K0634.002410 AEIQIEIA AEl H 33 10 M20x1,5 33 83 4033 10 30 28 15 34 K0344.94
K0634.002412 AHIQIBIA AE H Zs 12 M20x1,5 33 87 4233 12 30 28 15 39 K0344.94
K0634.002516 2~HIQIEA AR H 73 16 M24x2 40 106 5040 16 36 3,2 20 46 K0344.95
K0634.112903 AHIRIBIA AR H  H|ZASt 3 M6x0,75 14 3451714 35 10 08 45 10 K0344.99
K0634.112004 AHIQIBA AR H  HZBSF 4 M8x1 18 43 2118 4 13 1 6 12 K0344.90
K0634.112105 2EIQIBAAE H  HZE 5 M10x1 21 50 2421 5 17 1,3 5 12 K0344.91
K0634.112206 AEIQIBA ARl H  H|ZES 6 M12x1,5 25 59 2825 6 19 18 6 14 K0344.92

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



AHQIIA B A O8I0 FIR2E] LEJ} 940 SX|7} eis AH|

ol A olTiA ZEIK]
=29

=S Hs PN ES| Efgf E@H@ D D1 D2 L L1L2 AEZ3 SW Fx30° A& Bt EEd
7|8 &R S EbN EZ2 AIF QoM
F1 2 N F2 2. N
K0634.112308 2EIRIHIA ARl H  HZFE 8 M16x1,5 33 77 3633 8 24 23 15 35 K0344.93
K0634.112410 AHIQIBIA AEl H  H|Z3 10 M20x1,5 33 83 4033 10 30 28 15 34 K0344.94
K0634.112412 AHIQIBIA AR H  H|ZS 12 M20x1,5 33 87 4233 12 30 28 15 39 K0344.94
K0634.112516 AEIRQIBIA AR H  HIZSE 16 M24x2 40 106 5040 16 36 3,2 20 46 K0344.95

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 3/3



